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et % 32.71] 0.81 39.07 | 27.21
CHTHEIC K B 1K) fp 0.15 | 0.15 0.15 | 0.15
CHZh IR # 49 49 6 26 26
CH 7 H SR D 7
TR A & B HER o RT 1.0 1.0 | 1.0
A7) % 0.29 60.38 | 36.36
4T M) £ 0.6 0.61 | 0.99 | 1.0
R R 49 26 26
BRZD Y HOEIET AR /DKer 31
CFERNHEEEC /OK 2 2 2
RIS RS 1,920 | 2,000 | 1,782 | 1,901 | 1,843
RGBS ] 694 | 494 61 366 22 | |
A DR 0.361 | 0.247 | 0.017 | 0.193 | 0.012 | BURP | &A1
FER | OFH
=
10]0.361 ] 0.247 0.361
20 0.017 0.017
R 30 0.000
BB 10 0.193 | 0.012 | 0.193 ] *-°"1
ARt 818 | 852 | 430 | 430 | 417
[ i (o it/ T RE A2 ) 0.848 1 0.580 | 0.142 | 0.851 | 0.053
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RAEMS (BERAERD -« T - fHE
AR R T I
c «~ 2.8 — “~ 2.6 —
ej }»%
A
T T
3.5 ——
T T
2.6 — 2.6
i A S e
T
— 3
I
T
T N
T B
ﬁ ’—~>
“«~ 28 —| < 31 —
D
EEBUR
2¢ 30 99
\ } ) I
X Sl < |-
LN
e ‘> ~ N (/-‘?
7 o | =
T IRE] 68%) 271 1% 291 Y
))77ARER Y3#) AR4RD Y3F) Y2FR) ARORD — —
3 E R 69%) 281 12 298 4
AT E R 57R) 20F) - — —
YA IIVE 1608
BUroZEE%|  0.290 | 0.143 | 0.074 | 0.099 [ 0.011
A DT 0.617
R7EEM D (HERAERD - T - LA
OGNS TR s e
WA A B C D
i A 4 | E+il]| 4 k4| A K+ A
L 1 1 1 1 1 1 1 1 1 1
B3R A 2000 | 2000 | 1800 | 2000 | 2000 | 1800 | 2000 | 1800 | 2000 | 1800
HRRIE EIC K A I o w 1.00 | 1.00 | 0.95 [ 0.95 | 1.00 | 0.95 [ 0.95 [ 1.00 | 0.95 | 1.00
CHAE ED n 3.5 3 2.6 | 2.8 3 2.6 | 2.6 | 2.8 | 2.8 | 3.1
HEWTAIALIE & B RiEME o i 1.00 | 1.00 | 1.00 | 1.00 | 1.00 | 1.00 [ 1.00 | 1.00 | 1.00 | 1.00
CHEIT 2D % 0 0 0 0 0 0 0 0 0 0
KR A K B RER o T 0.98 [ 0.98 | 1.0 | 0.98 ] 0.99 | 1.0 [ 0.99 | 0.98 | 0.99 | 0.96
ORARIHHER AR % 2.19 | 2.19 | 0.59 | 2.87 | 2.02 0 | 1.0 |3.26] 0.8 | 5.78
FEATHEAIC K B HER o LT 1.0 0.9 0.94 0.85
EfrR)% 15.5 40.03 25.87 53.51
CHITHIC K 2 188%) fp 0.15 0.15 0.15
SRR £ 102 | 102 | 29 69 69 69 28 12 28 12
OBt &S £ 57 57 20 20
TR AC & B HiER o RT
A%
e @) £ 0.45 0.0 0.9 0.86
CHEh PR £
BURZE DO HO XX EEE 45 45
/hKer
(7 N /OK 3 3
BEALRHITES 1,960 1,960 [ 1,710 | 1,676 11,980 - |1,768 | 1,764 | 1,599 | 1,728
RGeS L= 01 1,095 170 1,059 68 | 201 92 | 228 | 173 N P
HAEBOFTR 0.279 0.099 0.290 0.114 | 0.027 | 0.143 | 0.074 | BPURO| 5
W | OB
1o 0.189 0.290 0.290
20 0.114 0.143 0.143
30 0.027 0.074 | 0.074
BT TR 40 0.079 0.099 0.099 | o.617
50 0.011 0.011
| BERS L 2,500 601 1,577 68 | 309 | 404 | 280 | 358
(EAE I (GREL =2 it/ m] AEXS M ) 0.438 0.283 0.672 1.000 ] 0.650 | 0.228 1 0.814 | 0.483
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